
https://www.pass4itsure.com/1d0-541.html
2024 Latest pass4itsure 1D0-541 PDF and VCE dumps Download

 

 

 

1D0-541Q&As

CIW V5 Database Design Specialist

Pass CIW 1D0-541 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1d0-541.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CIW Official
Exam Center

 

 

Latest 1D0-541 Dumps | 1D0-541 Practice Test | 1D0-541 Braindumps                                1 / 4

https://www.pass4itsure.com/1d0-541.html
https://www.pass4itsure.com/1d0-541.html
https://www.pass4itsure.com/1d0-541.html


https://www.pass4itsure.com/1d0-541.html
2024 Latest pass4itsure 1D0-541 PDF and VCE dumps Download

QUESTION 1

Which pair of relational algebraic operations requires union compatibility? 

A. Projection and Cartesian product 

B. Selection and projection 

C. Intersection and difference 

D. Cartesian product and intersection 

Correct Answer: C 

 

QUESTION 2

Consider the following SQL statement and the Orders relation shown in the exhibit: 

What is the output of this SQL statement? 
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A. B. C. D. 

Correct Answer: D 

 

QUESTION 3

Which component in the three-tier database architecture handles the data-processing and business logic? 

A. Thin client 

B. Fat client 

C. Database server 

D. Application server 

Correct Answer: D 

 

QUESTION 4
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Consider the following relations shown in the exhibit. Which of the following SQL statements would return the
Customers2 relation from the Customers relation? 

A. SELECT * FROM Customers WHERE Satisfaction_Rate = 90; 

B. SELECT * FROM Customers WHERE Satisfaction_Rate IN (80 AND 90); 

C. SELECT * FROM Customers WHERE Satisfaction_Rate >= 80 AND Satisfaction_Rate
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